Math 11U

Trigonometric Identities

All of these identities use the reciprocal ratios, quotient identities, and/or the Pythagorean Identities.

1. sinAcotA =cosA

9.

10. (1 — cos? A) sec* A = tan’ A

11. (1 +tan?A) cos? A =1

12. (sec?A—1)cot?’A =1

13. (1 — cos? 8)(1 + tan? 6) = tan? 0
14.sin? A(1 4+ cot? 4) =1

15. (csc? 6 — 1) tan?6 =1

16. sin? 6 cot? 6 + sin? 6 = 1

17. (1 — cos? A)(1 + cot? 4A) = 1

18. (1 + tan? A)(1 —sin?A) =1

19.

20.

21.

22.

cot? 6 (1 — cos?0) = cos? 6

1

1

cos2 6

sec2 A

.cosAtanA =sin 4
.cotfsecH = csch
.sinfsecf =tanf
.cosAcscA = cotA
.cotAsecAsind =1
.(1—cos?A)csc’A=1

.(1—sin?0)sec?d =1

sin® @ sec? 0 =sec? 6 —1

csc’ftan’H — 1 =tan? 6

1 —
cscZ A

LI

cot2g
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24.

25.

26.

27.

28.

"cscA  secA

sin A COSA

1

secA tanA

COs A cotA -

sin*@ — cos*@ = 2sin?0 — 1
sec*0 —1 =2tan% 6 + tan* 6
csc*A—1=2cot? A+ cot*A

(tanAcscA)? — (sindsecA)? =1

29.(sec @ cotB)? — (cosBcsch)? =1

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

tan? @ — cot? @ = sec? 6 — csc? 6
sin A cot? A __1

cos A tan A
sec? AzcotA — tan A

cscZ A
secd —tanfsinf = cos @
tan @ + cotf =secH cscH
(cos A +sin A)? + (cos A —sin A)? = 2
(1+tan6)? + (1 —tanh)? = 2sec® O
(cotd —1)? + (cot + 1)2 = 2csc? 6
sin? 8 (1 — cot8)? + cos? (1 +tanh)? = 2
cos? A(sec? A —tan? A) + sin? A (csc? A —cot? A) = 1
cot? A+ cot* A= csc* A —csc? A
O

1 1

= 2sec? 6

1-sin 6 1+sin 6



43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

tan A tan A
secA-1 secA+1

=2cscA

1 1
. =1
1+sin2A4  1+csc2A

(secB + cscB)(sinB + cosB) = secHcscH + 2

(cosB —sinB)(cscd —secH) = secHBcscHh — 2

(14 cotA+cscA)(1+ cotA—cscA) =2cotA
(secA+tanA —1)(secA—tanA+ 1) = 2tanA

(sinA + cscA)? + (cosA +secA)?> =tan? A+ cot? A+ 7
(tan@ + sech)? = %

sin*@ + 2cos?6 —cos*9 =1

(1+tan? A)(1 —tan? A) = 2sec® A —sec* A

cos3 A + sin® A = (cos A + sin A)(1 — sin A cos A)
sin*@ — 2sin?8 = cos*0 — 1
i=cosT0
0% P xVsec2f — 1 = tan? 6
cos 6@
cos'A 1+sin A = 2secA
1+sin A cosA

sin?AtanA + cos? AcotA + 2sinAcosA =tan A + cotA



